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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

—&— ECO
3200 -
3000
2800
2600
2400 ~ Warning: col ["FVOEC"] is missing
4I1- é é 1I0 1I2




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

—o— PHC *— —eo— —o0— —o— —0
107 —o— PHI
9_
8_
7 . T
Warning: col ['FVIPH'] is missing
@ L 4 @ L 4 L 4 L 4 L 4 @ L
4 6 8 10 12




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

—&— PHO

Warning: col

[’ FVOPH’ ]

is missing

4

10

12




Trend plot forG3-3 0
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